14.

The consignee sent a sight draft for the balance.
Prepare important ledger accounts in the books of
both the parties.

A machine purchased on 13 July 1983 at a cost of
Rs. 14,000 and Rs. 1,000 was spent on its
installation. The depreciation is written off at 10%
on the original cost every year. The books are
closed on 31 December each year. The machine
was sold for Rs.9,500 on 31st March 1986. Show
the machinery account for all the year.

8 BCOM 1003/BBA 1003
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U.G. DEGREE EXAMINATION, JUNE 2015.

" First <mmwﬂ205 — Semester
Commerce/Business Administration
PRINCIPLES OF FINANCIAL ACCOUNTING
Maximum : 100 marks
PART A — (5 x 8 = 40 marks)
Answer any FIVE questions.
Explain the objectives of Accounting.

Bricfly explain the Business Entity Concents.

Give Journal entries for the following
transactions:
2001 June 1 Kumar Started business with

cash Rs.10,000
2 Paid Salary for the Staff Rs. 500

5 Sold goods to Krishna for Cash
Rs.5,000

15 Purchases from Ganesan Rs.2,500
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12.

On 31st March, 2015 the following was the State
of Affairs: Cash in Hand Rs.400 cash at bank,
Rs.15,800 Sundry Creditors, Rs.9,200 Stock,
Rs.66,700 Debtors, Rs.30,300 Bills Payable,
Rs.6,600 Bills Receivable, Rs.8,800. Plant and
Machinery and furniture and fixtures are to be
depreciated by 10%.

Ascertain the profit for the year ended 31st
March, 2015, and draw up the Statement of
Affairs as on that date, showing the accounts of
the partners in detail, assuming Ganapathi
withdrew Rs. 10,000 and Das withdrew Rs.8,000
during the year.

A head office invoices goods to its branch at cost
plus 50%. Branch remits all cash received to the
head office and all expenses are met by the H.O.
From the following particulars prepare the
necessary accounts on the stock & debtors system
to show the profit or loss at the branch.

Rs. Rs.
Stock on 1.1.2009 27,900 Goods 3,600
(invoice price) returned by
debtors

Goods sent to the 1,53,000 Goods 4,500
branch(invoice returned to

price) . H.O by branch

Debtors on 1.1.2009 20,400 Shortage of 1,350

stock

6 BCOM 1003/BBA 1003

A Company purchased a plant for Rs.50,000. The
useful life of the plant is 10 years and the residual
value is Rs.10,000. Find out the rate of
depreciation under straight-line method.

Calculate profit or loss for the year 2014

Opening Capital Rs.60,000

Drawings Rs.5,000

Capital added during the year Rs. 10,000

Closing Capital Rs.90,000

A and B are partners sharing profits in 3:2 Ratio.

C is admitted for 1/5 share which he acquires
equally from both A and B. Find out the new Ratio
of partners.

PART B — (4 x 15 = 60 marks)
Answer any FOUR questions.
From the following trial balance as on 31.03.2014,

prepare Trading and Profit and Loss Account and
the Balance Sheet as on that date.

Debit Balances Rs. Credit Balances “Rs.

Salaries 5,500 Creditors 9,500
Rent 1,300 Sales " 32,000
Cash 1,000 Capital ‘ 30,000
Debtors 40,000 Loans 10,000

3 BCOM 1003/BBA 1003
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